22MBAFM303 ,

} Thlrd Semester MBA Degree Examlnati‘&?m, Dec. 2023/J an. 2024
e Strategic Cost Management

Max Marks: 100

~ Note: 1. Answer any FOUR Sull questionsi (
- 2. M : Marks , L: Bloom’s level
3. QkNo 8 is compulsory

Iwosmg ONE full questlon frbm‘%ach module i 3
: Course outcomes. ey

Q.17 a. | What are the elements of cost? 3 |L1|CO1
| b. Demonstrate the impliCat ns of cost management in IT sector. |7 |L3|CO3

k]

¢. | Vijay 1ndustr1es rﬁa‘i;;ufactures a product X. On 1¥ January 2007, there were | 10 | L4 | CO1
'|:5000 units of fi I R
were as follows:

Work-in-progress Rs.57,400
Raw material + “ Rs.1,16, 200

Direct Materi " 9,06,900
Direct Labour” % 3,26,400 .~ “
Frerght on raw material purchased -
Other factory overhead . -~ 3,17,3007
Stock of raw materlal onﬁ;/ 12/2007 96,400
i 78,207
1130,00,000
2,13,900

- vstock at the end of perlod

R AN
4 = AL v R
Q.2 | a. | Match the differences between fixed budget and flexible budget. 3 L2 |CO2 |
‘b. Explain the uses and limitgtiohs of standard costing. . |7 |L2|CO2
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A
The followmg data were obtarned from the books of Engineering | 10 | L4 | CO2
company for the half year ended 30" Septemb /2022, Prepare a
departmental distributions:

Production Department =Service Department °
» A B X e 2 YP
Direct wages | Rs.7000 | Rs.6000 Rs.1000 | Rs.1000
Direct Rs.3000 | Rs.2500 Rs.1500 | Rs.1000.
materials ‘ Ty,
Employees 400 300 100
Electricity 8000 600 200
(kwh) : S
%&%};t) points 10 il 2 1 % B Sﬁﬁ* ¥, 5 AT
Asset values | Rs. 50 OOO’T~ ‘Rs.30,000 | Rs.20,000. Rs 10,000 Rs.l0,000'
Area’ ‘ K
occupied (sq ;:»31800 600 600 » | 200 200
yards) R 8 S
The overheads for 6 months were as underz: .
Rs. %
400 | Depreciation <
1500 | Repairs and malntenance
Electric lighting | 200 | General over heads
Labour welfare | 3000 | Rent and taxes
Apportion the expenses of'department X in th
department Y in proportion i
respectively. «
& P
Q3 What is meant by activity based costmg" o 3 |L1|CO2
7 | L2 | CO3
The product of a manufacturing concern passes through two processes A and | 10 | L4 | CO2
B, and.then to finished stock. It .is ascertained that in €ach process normally
5% of' the total weight is cost.and 10% is scrap Whlcﬁ from process A and B
éreah&es Rs.80 per tonne- and'Rs.200 per tonne respectlvely The followmg are
il the ﬁgures relating to bot he processes:
T . TN ?TProcess ‘A |- Process B}
bt Materlal“s%ih tones # | 1,000 ] R 700
| Cost.of material in rupees,per tonne 125 5200 .
| Wagesinrupees . ¢ 28,000 10,000
0 —mﬁufacturmg expenses murupees 8000 | 5 250'
s Oufput in tones -, 830 72 780 :
P Prepare process cost accounts showing cost per tonne of each proces Alsc o, il
: prepare abnormal loss/gam ;account ‘
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Q4

What is CVP analysis?

3

L1.

co2 |

Explain cost audit. What are the objectives and advantages of CO¢ ’raudit?

7

L2

CO3 |

e .C—~>36000kg@Rsl 10.

‘| consumption was:

Finolex Co, uses a standard cost system and manufa
Standard cost per 1000kg of output is as under:
Matenal Quantity (in kg)
A 800

B - - 200

C 200 ) 100 ' 4
In March 2007 the company produced 200 ,000kg of output. Actual

s product Z.

Material:
A —1,57,000kg @ _Rs.2.40
B——>38000kg@Rs420 ’

Calculate matenal Varlances 5

o 2

10

L4

Co2

Q5

L1

Cco2

Define cost cont”ﬁol and cost reduction. Distingtu'sh between the two.

L2

CO3

‘The following data are avallable

G. S Ltd manufactures a single product for ‘which market demand exists for

~

10% mt{ghe price he would be in a- p031t10n to increase th
to 30%. :

I.  Selling price — Rs.1 '*per unit
I.  Variable cost — Rs.3'per unit
L Semi- variable cost — Rs.6,000 fixed +‘ 'O’palse per unit 4

You are req Ired to prepare the following statements:
i) The operatlng profit at 60%, 70% and 80% level at. current selling price

ii) The 6 peratmg ‘profit at proposed selling price atﬁ the-above levels.
vl

10

L4

CO3

Q.6

Defme margln of safety

L1

CO2

:Relate margmal costt

How it is different from absorption costing?

12

coz|

- You are given: the f lowing data: ¢

Year | Sales es'(Rs?) | Profit (Rs.) 1
2009 [ 1,20.000 | 9,000 |
2010 [ 1,40,000
Assuming that the cost st
years, find out: :
i) - P/Vratio

ii) Break even point
iii) Profit when@ales are Rs.1,00,000

iv) Sales required to earn profit of Rs.20,000
V) . Margin of safety in 2010.

A

re and selecting price remain unchanged in two

10

L4

Co3
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Define variance analysis.

Q.7 3| L1|CO2
Explain the requisites of good report. |7 | L2 | CO3
Explain features and purpose of balance score card« 10 | L3 | CO3
Q8 CASE STUDY (Compulsory) L4 | CO3

Auto parts Ltd. has an annual production of 90,000 units for a%%%or
component. The components cost structure is as below: . &

Materials — 270 per unit ‘
Labour (25% fixed) — 180 per

Expenses :
Variable — 90 per unit

Fixed —»

i) The purchase ma“nager has an offer from .a suppher who is willing to supply the
component, at Rs.5.40. Should the component be purchased and production stopped?

ii) “components manufacture are to be used to

1ling price is 485.

In the latter case the material price w111 be Rs,200 per unit 90,000 units of this product can be

produced on the same cost basis as ve for labour and expenses Discuss whether it would

component presently being produc
market.

Tk kkk




